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QUESTION 1

On which of the following factors does the capacity of an access point depend? Each correct answer represents a
complete solution. Choose all that apply. 

A. Channel reuse 

B. Software applications 

C. Number of users 

D. Co-location 

Correct Answer: BC 

 

QUESTION 2

Which of the following standards is used in Cordless phones? 

A. IEEE 

B. DECT 

C. IETF 

D. FCC 

Correct Answer: B 

 

QUESTION 3

Which of the following standards defines FHSS and DSSS RF technologies and operates at 1 or 2 Mbps? 

A. Original 802.11 

B. 802.11a 

C. 802.11b 

D. 802.11g 

Correct Answer: A 

 

QUESTION 4

What should be the separation between two channels of the 2.4 GHz ISM band in order to be considered non-
overlapping? 

A. 25 MHz 
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B. 15 MHz 

C. 20 MHz 

D. 5 MHz 

Correct Answer: A 

 

QUESTION 5

Which of the following statements is true about mesh access points and mesh technology? 

A. Mesh is an inheritance technology and the priority is given to select an appropriate upgrade path. 

B. In a full mesh network, all nodes are connected together with at least two paths for every node. 

C. Mesh access points have a single point of failure. 

D. Mesh access points are costly to implement, as they may require a separate RF for communications. 

Correct Answer: B 
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